
Examinsti*tt 61

14. Which of the following is a lgggilene,nL&r a series-resonant RLC circuit? sqC. R=Li " :  :  A.  L=C
B. R=C

,)-in phase

Q)90" out of phase

16. What is the sum of 130 + j180 and 5 -  j30?

A. 135 + j21O
B. 135 + j150

17 . 4Oz4Oo x 3OZ2O} equals

A. 12001600
B. 702800

'\-. C. very low inductance in an RLC circuit.
D. very high resistance in an RLC circuit.

20. Which of the following is a parasitic suppressor?

A. Bead ledge
/' - & FerritebeLd

C. 180o out of phase
D. 27Oo out of phase

c. 135 -  j150
D. (1352)+ (J150) '

c. 7028000
D. 0.752600
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18. Which of the following is equal to the angular velocity (to)?

A. a=2fC C. a=2nR
B. a=2nL ' .  - , , . t  @ a=2nf

19. Parasitic oscillations can be caused by

{@ oistributed components.
5. uery low capaciiance in an RLC circuit.

C. .A long piece of wire
D. Back-to-back transistors

ffiJxt= txc

15. In a series-resonant RLC circuit, the voltage across L is - with the voltage across C.
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